—

Math 4460
&5/2é/25




% ’
l__ej(j '\HUS)Y(O&Q 'k‘l’\

NC X
) L' dheorem W
><0\/V\Q\€ o

ety p=13 4/}\ |
| ?(’\N\Q

Checls
. gt
sut  What Jr'A“P(’PAS when
\4@_ ele/\/\e/\J(f







IJ; ?:2 +hen
(- =11=1="
\ O\ Z;:g"\’}
Le)r P \ae A oée& \3('\N\e.
¥ = = e
TL\CV'\/ Z.F:{\)Z)—S)\H)\)‘—Z,JF—\}
/V T )
LheSe each
wave AN nve (Je
Nt eg),ucx\\h
ylhem e [VeS

So, _
-t T

euery e(e menT
C L Ywis ranye © acels

\
oo} W th s invecse



Recall

Thea

0\9/

0\7’%

Lhen P IS pame

one of thwree (afes ho (oLS

(N\ocl L{

_\ ((Y‘béxk”
l:!(mad ()







[ el p he on odd  prime
W\/\ere, P—’—'\ (N\UC}\ q>

Then, 4 [ (p-1).
go/ b\ = Uk Where ke Z












W |
e Wil See \0\_‘_(( o -
he d/7em

b
V) Fecmat fhat §
Y5

??"\_‘/‘
T Ty
6\ QA (o nodichion

s nte \ 3




